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Question: 1

You must back up data with an option to restore a file to the same or a different location.
In this scenario, which storage type would be used as part of the NetApp Cloud Backup service?

A.in-memory
B. file storage
C. object storage
D. block storage

Answer: C

Question: 2

You are sizing a new Azure NetApp Flies deployment and are documenting the throughput limit
calculations within the design.
In this scenario, which two factors are used to accomplish this task? (Choose two.)

A. the quota that is assigned to the capacity pool
B. the service level of the capacity pool

C. the service level of the volume

D. the quota that is assigned to the volume

Answer: A, B

Question: 3

You are designing a solution using NetApp Cloud Tiering and want to Include details for the user on
how to monitor network latency and throughput, so that they can identify potential bottlenecks that
could affect the tiering service.

In this scenario, which tool would you include in the design to complete this task?

A. Inactive Data Reporting
B. Amazon CloudWatch

C. NetApp Cloud Manager
D. NetApp XCP

Answer: B

Question: 4




You are asked to deploy NetApp Cloud Volumes ONTAP In AWS by using automation tools to help
streamline scale and maintain updates.
Which two tools would you use to complete this task? (Choose two.)

A. Vagrant
B. Helm

C. Terraform
D. Ansible

Answer: C, D

Question: 5

Exhibit.
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Which deployment model for NetApp Cloud Volumes ONTAP in AWS would use the networking
topology as shown in the exhibit?

A. single node, multiple availability zones
B. HA nodes, single availability zone
C. single node, single availability zone



D. HA nodes, multiple availability zone

Answer: B






